Government of Jammu and Kashmir OFFICE OF THE SUPERINTENDING ENGINEER, JAL SHAKTI DEPARTMENT HYDRAULIC CIRCLE DISTRICT BLA/BPR H.Q SOPORE Member Secretary District Jal Jeevan Mission Baramulla/Bandipora Email:sehydbla@gmail.com M/S:- Shabir Ahmad Reshi. Advertised Amount: ₹167.71Jac S/o:- Ghulam Mohammad Reshi Allotted Amount:- ₹1,65,33,795.00 R/o:- Baghi Sunder Payeen Daresh Kadal Srinagar Major Head:-4215-JJM GST No: - 01 AGWPR4881J1 ZQ. Time of completion: 120days Regd No: CE/I&FC/SGR/04/(FOUR)/AAY/(Civil&Saiitary)/2019-20 Account No: Mobile No: [ORDER No: /9/SE/HYD/SPR/JJM of 2023-24] Dated: - 10 /06/2023. Subject: Fixation of Contract for: Laying fitting of pipes, chowkidar quarter, balance work, chain link fencing, intake chamber and clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15) Reference: 1. Executive Engineer Jal Shakti (PHE) Division Baramulla's e-NIT No 70 of 01/2023 Dated: - 06-01-2023 issued under endorsement No: PHE/BLA/CC/9931-41 dated: 06-01-2023. 2. Revised District Action Plan of District Baramulla approved by DJJM vide no: DDCB/3929 dated: 30-07-2022. 3. Minutes of Meeting held with District Development Commissioner Baramulla (Chairperson DDJM) on 23/5/2022 minutes issued vide letter No DDCB/Meeting/2022/1214-44 Dated: 24/5/2022 and No DDCB/2022/ 1248-70 Dated: 26/5/2022 thereafter vide letter No. DDCB/ 2022/1725-28 Dated 04/06/2022. 4. Administrative Approval Accorded by Chief Engineer Jal Shakti (PHE) Department Kashmir vide Order No: CE/PHE/DB/JJM/256 of 09/2022 Dated: 05-09-2022. 5. Technical Sanction issued by Chief Engineer Jal Shakti (PHE) Department Kashmir's Order No:-CE/PHE/DB/470 of 09/2022 Dated: 08-09-2022. 6. Minutes of Meeting of District Contract Committee circulated vide No: SE/Hyd/JJM/15520-33 dated: 02-03-2023. 7. Amendment in operational guidelines for the implementation of Jal Jeevan Mission issued by NJJM, DDW&S ministry of Jal Shakti GOI vide F. No W-11016/10/2022-JJM-IV-DDWS Dated: - 21-06-2022. Modus operandi communicated by Chief Engineer PHE Kashmir Vide circular No CE/PHE/MC/DB/13745-83 Dated: - 26-07-2022. Dear Sir, For and on behalf of Lieutenant Governor of Union Territory of Jammu and Kashmir, the contract for above subject work is hereby fixed on the rates quoted and subsequently negotiated and accepted by you on Percentage rate basis as per the Annexure "A" of this allotment order with standard terms and conditions as laid down in the Annexure "B" of this allotment Order. The total cost of work shall be ₹1,65,33,795.00 (Rupees One Crore Sixty-Five Lac Thirty-Three Thousand Seven Hundred and Ninety-Five Only). 10:-SE/HYD/JJM/ 2733-47 Superintending Engineer dated:- 10/06/2023 Hydraulic Çircle Baramulla/Bandipora Copy to the:-1. Chief Engineer Kmr. Jal Shakti (PHE) Department Srinagar for favour information. District Development Commissioner Baramulla (Chairperson DJJM) for favour of information. 7,3. Additional District Development Commissioner Baramulla (Member DJJM) for information. 74. Assistant Commissioner Development Baramulla (Member DJJM) for information. 5. Divisional Forest officer Baramulla (Member DJJM) for information. 6. Chief Planning Officer Baramulla (Member DJJM) for information. 7. Chief Medical Officer Baramulla (Member DJJM) for information. 8. Chief Educational Officer Baramulla (Member DJJM) for information. 9. District Social Welfare Officer Baramulla/District Tribal Welfare Officer Baramulla (Member DJJM) for information. 221941/20 10. District Information officer Baramulla (Member DJJM) for information. H. Executive Engineer Jal Shakti (PHE) Division Baramulla (Member DJJM) for information and necessary action. 12. Executive Engineer Jal Shakti PHE Mech. Division North Sopore (Member DJJM) for information. 13. Executive Engineer Ground Water Division Srinagar (Member DJJM) for information 14. WAPCOS Limited Baramulla for information and necessary action, 15. File Concerned.

and clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15

S.	Item Description	Unit	Quantity	Alloted Rate	Amount
1 w	arth work in excavation by manual means in trenches for foundations, rains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, rells, cesspits and the like not exceeding 10 sqm on plan, including ressing of sides and ramming of bottoms lift upto 1.5 m, including getting ut excavated earth and disposal of surplus excavated earth as directed:				
-	or all kinds of soil	Cum	3354.560	431,160	₹ 14,46,353.43
	rdinary rock	Cum	135.000	957.107	₹ 1,29,209.43
2 3	earth work in excavation by mechanical means over areas (exceeding locms and upto 1.5 mtr in width as well as 10sqm on Plan) including lisposal of excavation earth upto 1mtr for cutting edge, disposal earth to be evelled and neatly dressed in all kinds of soil:	Cum	732.800	186,655	₹ 1,36,780.69
2.1 E	extra for every additional lift of 1.5 mtr or part thereof	Cum	256.480	81.090	₹ 20,797.91
	aying & fitting of G.I. pipes complete with G.I. fittings excluding trenching			Project to	
8	and refilling etc. (external work)			44.44	- (0.055.60
	15mm dia G.I pipes	Mtr	3000.000	20.025	₹ 60,075.68
	20mm dia GI pipes	Mtr	3500.000	20.025	₹ 70,088.29
$\overline{}$	25mm dia G.I pipes	Mtr	4500.000	30.310	₹ 1,36,394.03
	40mm dia G.I pipes	Mtr	2000.000	40.347	₹ 80,694.24
	50mm dia G.I pipes	Mtr	1500.000	40.347	₹ 60,520.68
	65mm dia. G.I pipes	Mtr	1200.000	72.239	₹ 86,686.97
	Laying in position centrifugally cast (spun) iron S&S or flanged pipes(excluding cost of pipe)	Quintal	553.124	242.824	₹ 1,34,312.00
	Providing push-on-joints to Centrifugally (Spun) Cast Iron S&S including festing of joints and including the cost of rubber Gasket 150 MM dia. DI	No	184.000	143.094	₹ 26,329.26
	Providing push-on-joints to Centrifugally (Spun) Cast Iron S&S including testing of joints and including the cost of rubber Gasket 200 MM dia. DI	No	130.000	210.636	₹ 27,382.64
7	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	Cum	3063.551	196.494	₹ 6,01,970.71
8	Making connections of GI distribution branch with GI mains of following size by providing and fixing tee , including cutting and threrading the pipe etc. complete				
8.1	25 to 40mmØ	No	5.000	658.855	₹ 3,294.27
8.2	40 to 80mmØ	No	8.000	1254.667	₹ 10,037.34
	Providing & laying of DI specials of class K-12 suitable for push on jointing	kgs	1000.000	168.113	₹ 1,68,113.00
10	as per IS: 9523 upto 600mm dia Providing and fixing of MS flanged joints (12mm thick) to double flanged GI/DI pipes including cutting of pipes, welding charges, cutting of flanges, rubber gasket, bolts, nuts including testing of joint and all sorts of carriages. Complete Job.		1000.000	100.110	(1,08,113.00
	150mmØ sluice valve	No	5.000	20018.303	₹ 1,00,091.5
	200mmØ sluice valve	No	4.000	31346.152	₹ 1,25,384.6
	100mmØ sluice valve	No	2.000	13017.880	₹ 26,035.76
11	providing and fixing C.I double acting air valve of approved quality with bolts ,nuts,rubber insertions etc.complete job			10011.000	120,000.70
	80mmØ Double acting	No	2.000	6161.688	₹ 12,323.38
12	100mmØ Double acting Providing and fixing Gun metal gate valves with CI Wheel of approved	No	2.000	8093.405	₹ 16,186.81
	quality all necessary accessories,complete job 25mmØ Gate valve	No	E 000	E07.010	
	40mmØ gate valve	No	5.000 4.000	537.813	₹ 2,689.07
	50mmØ Gate valve	No	3.000	696.878	₹ 2,787.51
	65mmØ gate valve	No	3.000	932.285	₹ 2,796.86
		140	3.000	1551.436	₹ 4,654.31
13	Providing and fixing of MS surface boxes (0.75x0.75x0.75) of 6mm thick plate for sluice valves. The job includs fixing of angle iron frame legs in cement concreate 1:2:4 mix with locking arrangements complete.	Job	3.000	6922.300	₹ 20,766.90
14	Providing & fixing of 6mm MS bends of required dia and Tee's including carriage of welding machine upto site of work and fixing at site including cost of rubber gaskets/washers/nuts & bolts etc as complete job.	Kg	200.000	207.669	₹ 41,533.80
15	Rroviding and fixing of MS flanged joints (12mm thick) to double flanged ĜI/DI pipes including cutting of pipes, welding charges, cutting of flanges, pibber gasket, bolts, nuts including testing of joint and all sorts of carriages. Somplete Job.				

aying fitting of pipes, chowkidar quarter, balance work, chain link fencing, intake chamber and clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15

T		Annexure "A" with Order No: 19 SE/HYD/JJM of 20	23-24	Dated :-	10 -06-2	023
			Unit	Quantity	Alloted Rate	Amount
		n dia G.I	Pair	250.000	1503.128	₹ 3,75,782.00
6	carria	ling and laying hand packed stone soling 50 mm nominal size ing filling, spreading, dressing, ramming, all leads lifts and all ges complete.	cum	69.312	1305.348	₹ 90,476.28
7	the c	ding & Laying in position cement concrete of specified grade excluding ost of centering and shuttering all work upto plinth level 1:4.8mix (1 ent.4sand: 8Graded stone aggregate)	Cum	43.286	4807.869	₹ 2,08,113.40
18	Cem	ding & Laying in position cement concrete of specified grade excluding cost of centering and shuttering all work upto plinth level 1:2:4 mix (1 ent:2 sand: 4 Graded stone aggregate)	Cum	86.859	6393.431	₹ 5,55,327.05
19	the o	iding & Laying in position cement concrete of specified grade excluding cost of centering and shuttering all work upto plinth level 1:3:6mix (1 nent: 3sand: 6 Graded stone aggregate)	Cum	66.980	5377.381	₹ 3,60,176.99
20	rein	viding and laying in position specified grade of reinforced cement crete excluding the cost of centering, shuttering, finishing and forcement-All work upto plinth level. 1:1.5:3 (1 cement :1.5 coarse d:3 graded stone aggregate 20mm nominal size) Crushed	cum	58.666	7714.172	₹ 4,52,559.59
21	upt in	ineforced cement concrete work in walls (any thickness) including ached pilasters, buttress, plinth ans string, curses, columns, fillets etc to floor v-level excluding cost of centering, shuttering, and reinforcement 1:1.5:3 mix(1 cement :1.5 sand: 3 graded stone aggregates) M20	Cum	74.032	9303.705	₹ 6,88,771.87
2:	2 slo pla ex 1:	einforced cement concrete. Work in beams, suspended floors, roofs, ope up to 15 degree landings, balconies, shelves, Chajjas, lintels, bands, ain window sills, stair cases and spiral starir cases, upto floor five level ccl. The cost of centering, shuttering, finishing and reinforcement with 1:5:3 mix (1 cement: 3 coarse sand: 3 graded stone agg 20mm nominal ze)	Cum	15.820	9740.017	₹ 1,54,087.07
2	4	roviding and laying in position R.C.C 1:2:4 mix in domes, arches etc	cum	8.721	10289.025	₹ 89,730.59
2	- · · p	teinforcement for RCC works including straightening, cutting, bending and lacing in position all complete (TMT)	Ng	11075.866	86.207	₹ 9,54,821.14
1		rom work: Centering and shuttering including strutting, proping etc and emoval of same for				
2	_	oundation	Sqm	87.244	259.388	₹ 22,630.09
2	5.2 V	Valls	sqm	902.931	567.480	₹ 5,12,395.52
2	25.3	Suspended Floors	Sqm	83.139	628.545	₹ 52,256.59
2	25.4	Beams	Sqm	34.934	497.268	₹ 17,371.57
2	25.5	Dome	Sqm	70.965	2063.637	₹ 1,46,445.97
.1,	26 1	Extra for Centering and shuttering in circular work	min a			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		Foundation	Sqm	11.734	51.878	₹ 608.73
1	26.2	Walls	sqm	227.458	113.526	₹ 25,822,33
	26.3	Suspended Floors	Sqm	5.415	125.689	₹ 680.61
	26.4	Beams	Sqm	34.934	99.454	₹ 3,474.31
	26.5	Dome	Sqm	70.965	997.306	₹ 70,773.80
1 4;	27	12 mm thick cement plaster 1:4 mix	Sqm	1104.970	257.163	₹ 2,84,157.89
	28	Providing incorporation(During Concreting)G.P Sheet strip water seal 1.25mm nominal thick,at Construction joints,including Jointimg of ends and to form a continous Basis strip area(excluding laps) to be measured	sqm	103.390	494.450	₹ 51,121.19
	29	Extra for providing/Mixing of water proofing material Impermo or equivalent in cement concrete	kg	766.900	79.112	₹ 60,670.99
5.	30 📑	12 mm thick cement plaster finished with a floating coat of mix 1:3	Sqm	111.392	339.934	₹ 37,865.97
1	31	Brick work with common burnt clay F.P.S (non modular) bricks of glas designatin 75 in foundation and plinth in Cement mortar 1:6 (1 cement fine sand)	6 Cum	16.777	6429.037	₹ 1,07,859.9
1	32	Extra for brick work in superstructure above plinth level upto floor V leve (By manual means)	cum	16.777	1308.957	₹ 21,960.38
	33	Cement concrete flooring(1:2:4) mix 50mm thick in floors.	Sqm	579.349	499.395	₹ 2,89,323.7
	, 34	:Providing wood work in frames of doors, windows, clerestory windows are other frames, wrought framed and fixed in position with hold fast lugs withdash fasteners of required dia and length (hold fast lugs or with data fasteners shall be paid for separately) wnd class KD/SIlver Wood	or Cur		54389.500	₹ 1,76,221.9

k

lying fitting of pipes, chowkidar quarter, balance work, chain link fencing, intake chamber and clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15

	Annexure "A" with Order No: 9 SE/HYD/JJM of 2023-24 Dated :- 10 - 6 -2023						
S. No.	Item Description	Unit	Quantity	Alloted Rate	Amount		
10	Providing corrugated G. S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8mm diameter with bitumen and G.I limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (upto any pitch in horizontal/vertical or curved surface)excluding the cost of purlins, rafters land trusses and including cutting to size and shape wherever required. 0.63 mm thick with zinc coating not less than 275 gram/m2	Sqm	267.870	821.034	₹ 2,19,930.44		
36 42 1	Providing ridges or hips of width 60cm overall width plain G.S. sheets fixed with polymer coated J. or L hooks, bolts and nuts 8mm dia G.I. limpet and bitumen washers complete. 2.63 mm thick with zinc coating not less than 275 gram/m2	Mtr	38.590	619.744	₹ 23,915.91		
37	P/F of plain Eaves boarding of budloo wood 40mm thick and 300mm wiide	Mtr	80.200	692.230	₹ 55,516.85		
.38	providing /Fixing of panelled and glazed shutters for doors windows and clarestory windows incl ISI marked MS pressed but hinges 2nd class kail wood	Sqm	163.800	3263.370	₹ 5,34,540.01		
39	Providing and fixing 35mm thick wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge:	Sqm	15.940	2933.424	₹ 46,758.77		
40	Supply and installation of PVC tees for under drainage.			0.000	₹ 0.00		
40.1	tees	No	30.000	296.670	₹ 8,900.10		
-40.2		No	55.000	247.225	₹ 13,597.38		
41	P/L 50mm PVC under drainage system with nominal size bore read with IS: 1592 of 1580	Mt	100.000	271.948	₹ 27,194.75		
42	Providing and fixing of electrical points (heating and lighting) including cost of wire switches, necessary MCB's Switches, Switch boards, Ceiling rose reputed make ISI mark Screws, casing conduit material including all sorts of carriage and labour charges req for the job.						
42.1	Lighting points	No	25.000	988.900	₹ 24,722.50		
42.2	Heating points	No	9.000	1483.350	₹ 13,350.15		
43	P/F of air blower standard make ISI mark capable of providing compression @ 15cum per minute @ 0.35 kgs/sqm suitable 3 phase induction electric mortar 40hp Kirloskar/ Crompton Graves make complete with auxiliary pipe system upto filter beds (two nos) filling pressure gauge Nozzles, cement concrete, block base plate air check valve, non return valve.	set	1.000	128557.000	₹ 1,28,557.00		
1/2	R/F of mechanical equipment req for bleaching tank with electrically driven paddles assembling fitted with suitable reduction gear mechanism coupled with three phases electirc mortar 1Hp capacity Kirloskar/Greaves/Crompton make along with P/F of 32mm dia PVC pipe and pipe fittings up to clear water chamber, inlet water arrangment from back wash tank by P/F of 25mm dia GI pipe with necessary pipe specials. Gate valves of reputed make heavy duty (Pipe class B) complete job.	Job	1.000	29667.000	₹ 29,667.00		
45	P/F of mechanical equipment req for bleaching tank with electrically driven paddles assembling fitted with suitable reduction gear mechanism coupled with three phases electirc mortar 1Hp capacity Kirloskar/Greaves/Crompton make along with P/F of 40mm dia PVC pipe and pipe fittings up to clear water chamber, inlet water arrangment from back wash tank by P/F of 25mm dia GI pipe with necessary pipe specials. Gate valves of reputed make heavy duty (Pipe class B) complete job.	Job	1.000	29667.000	₹ 29,667.00		
46	Providing fabrication and fixing of main panel board made out of angle iron fixed with 16mm ply board with sun mica fitted with req electrical appliances viz 16amp switch fuse unit outgoing for clarifloculator/ Floculator/Alum tank/ Bleaching tankd, Flash mixer/ Back wash motor 7.5 HP starter (reputed make ISI mark) for above said mortors preventive measures devices, volt metes/indicator lamps, 100amp MCB, Bus bar, Change over switches etc with Internal wiring.	Job	1.000	89001.000	₹ 89,001.00		
instinues:	N/1:-) P/F installation, successful commisioning of double flanged MS pipes, pipe						
4/20	specials etc incl all carriages upto site.	Lighting					
47,1	100mm dia pipe (tail piece)	Rm	6.000	2966.700	₹ 17,800.20		
47.2	150mm dia pipe	Rm	2.000	1780.020	₹ 21,360.24		
47.3	80/100/150mm equal Tee with flanges.	No Rm	5.500	2966.700 1977.800	₹ 5,933.40		
	150mm dia pipe with flanges. 150mm dia MS bend with flanges.	No	4.000	3955.600	₹ 10,877.90 ₹/15,822.40		
47.5	TOURIST GIRL WILL HARRY TO THE TOURIST THE				15,822,40		

ting fitting of pipes, chowkidar quarter, balance work, chain link fencing, intake chamber clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15

-	Annexure "A" with Order No: 19 SE/HYD/JJM of				2023 Amount
0.	Item Description	Unit	Quantity	Alloted Rate	
6.1	150x150x150mm tee with flanges.	No	3.000	9889.000	₹ 29,667.0
7	150mm dia tail piece with flanges.	No	7.000	4944.500	₹ 34,611.5
3	Providing and fixing D.I. sluice valves (with cap) complete with bolts, nuts, rubber insertions etc. Complete including tail pieces as per requirements			Y -c=	
	Confirming to IS:14846 read with latest amendments.	Ma	2.000	61377.067	₹ 1,22,754.
1.4	300nm dia Class-1st 200nm dia Class-1st	No No	2.000 4.000	31346.152	₹ 1,25,384.
_	150mm dia Class-1st	No	9.000	20018.303	₹ 1,80,164.
_	100mm dia Class-1st	No	4.000	13017.880	₹ 52,071.5
51	80mm dia Class-1st	No	3.000	10694.954	₹ 32,084.8
9	Providing installation and successful commissioning of MS rotating disludging bridge moving on rail, central bearing, fixed on peripheral beam of the clarifloculator with well designed MS trusses frame with hand rolling, chequered plate flooring complete job with suitable reduction gear arrangements coupled 5Hp 3 phase induction mortar of (Crompton/Greaves/Kirloskar make)	Job	1.000	445005.000	₹ 4,45,005.
	Supply and installation & successful commissioning mono block pumping unit Kirloskar/Greaves/ Crompton make 3 phase induction mortar coupled 3HP with pumping unit of 3000 gallons discharge per hour dynamic head 15m along with all accessories like foot valves, non-return valves, cement concrete block, base plate, suction pipe, 65mm dia R/Main (Class-B) with heavy duty gate valves and other pipe specials complete job.	Job	2.000	49445.000	₹ 98,890.0
1	P/F of mechanical equipment for flash mixer with electrically driven agitator assembly unit with suitable gear system coupled with 1HP 3 phase induction mortor on cement concrete. Bed with base plate	Job	1.000	29667.000	₹ 29,667.0
2	P/F, testing, commissioning of drive assembly unit for churners of floculator with 3 phase induction mortor 2 HP capacity with Radicon reduction gear system and paddle set fixed on C/C base with base plate.	Job	1.000	34611.500	₹ 34,611.50
53	Providing and fabrication of angle iron stair with chequered plates for riseers, hand railing on both sides with 2 coats of painting (near filter beds)	Job	2.000	14833.500	₹ 29,667.00
54	Providing fabrication and fixing of main panel board made out of angle iron fixed with 16mm ply board with sun mica fitted with req electrical appliances viz 16amp switch fuse unit outgoing for clarifloculator/ Floculator/Alum tank/ Bleaching tank, Flash mixer/Back wash motor 7.5 HP starter (reputed make ISI mark) for above said mortors preventive measures devices, volt metes/indicator lamps, 100amp MCB, Bus bar, Change over switches etc with internal wiring.	Job	1.000	49445.000	₹ 49,445.00
55	Providing and installation of main cable from LT pole to main panel board 3 core unider grounds or above as req at site	RM	100.000	593.340	₹ 59,334.00
56	P/F of 3 phase 50 c/c circuit connection for different electric motors from main panel board (Capacity varying 1HP to 5Hp)	RM	100.000	316.448	₹ 31,644.80
57	Providing and shrouding filter media including laying, including all carriages by mechanical transport from Gandrabal and head load complete job.	Cum	41.400	7911.200	₹ 3,27,523.6
58	Fundamental complete.	Sqm	221.080	1224.209	₹ 2,70,648.0
59	Providing and fixing of aluminium work in frames of doors and windows	kg	214.570	412.915	₹ 88,599.21
504	Providing and fixing of shutters aluminium for doors and windows	sqm	15.800	1483.350	₹ 23,436.93
61	providing and fixing of glazing in aluminium doors and windows	sqm	12.620	963.881	₹ 12,164.18
52	providing and fixing 12mm thick prelaminated board flat pressed three layers or glazed wood patricle board	sqm	1.530	1102.228	₹ 1,686.41
33	providing and fixing of 750x750mm manhole cover with angle iron frame 4mm thick Ms sheet Finishing walls with wall putty to form even surface	job	1.000	4944.500	₹ 4,944.50
34:1	Flooring with marble stone of specified thickness as per sample of marble	Sqm	572.940	138.446	₹ 79,321.25
35	approved by Engineer-in-charge, over 20 mm (average) thick base of cement mortar 1:4 (1 cement:4 coarse sand) laid and jointed with grey cement slurry including rubbing, polishing and curing complete with:	Sqm	144.240	2180.970	₹ 3,14,583.0

Head Deafteman

#

aying fitting of pipes, chowkidar quarter, balance work, chain link fencing, intake chamber and clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15

1		Annexure "A" with Order No. 10 CE (1995)					
	S. No.	Annexure "A" with Order No: 19 SE/HYD/JJM of 2 Item Description			10-06-	2023	
	66	Providing and fixing testing and successful commissioning of automatic manually operated voltage stablizer capacity 25KW reputed make ISI mark with copper coils housed in MS Tank/ Box fitted with Rotter for increasing and decreasing Voltage including	Unit	Quantity	Alloted Rate	Amount	
13	67	back light/asbestos plate fitted with oil, wheels for easy movement including necessary fittings, including all carriages upto site of work complete job.	Job	1.000	98890.000	₹ 98,890.00	
11	- 68	Providing installation of power conveyor for Floculator, Providing fixing of bluck heads	Job	1.000	7911.200	1701100	
	69	Providing fixing of halogen lights	No	8.000	494.450	₹ 7,911.20	
	70	Providing fixing of halogen lights	No	20.000	3955.600	₹ 3,955.60	
11	1 1	Providing fixing of earthen conductor.	Job	1.000	9889.000	₹ 79,112.00	
i.	71	P/F of exhaust fans 350mm size reputed make ISI mark including all camage complete job.	100	is a secure of	3003.000	₹ 9,889.00	
1/2	72	Providing 40x5mm flat iron hold fasts 40cm long incl. fixing to frame with	No No	3.000	1977.800	₹ 5,933.40	
17.56	73	concreate block 30x10x15 cm (1:3) mix (20mm nominal size) Providing & fixing aluminium sliding door bolt ISI marked annodized (Anodic coating not less than grade AC 10 as per IS-1868) transparent or dyed to required colour or shade with nuts and screws etc. complete	No	3.000	112.537	₹ 3,601.18	
A CONTRACTOR	74	Providing & fixing aluminium tower bolt ISI marked annodized (Anodic coating not less than grade AC 10 as per IS-1868) transparent or dyed to required colour or shade with nuts and screws etc. complete					
1	74.1		NO	60,000	20.404		
	7.4.2	100x10mm	NO	66.000	63.191	₹ 4,170.59	
400	75	Providing & fixing aluminium handles ISI marked annodized (Anodic coating not less than grade AC 10 as per IS-1868) transparent or dyed to required colour or shade with nuts and screws etc. complete	NO	22.000	47.072	₹ 1,035.58	
	75.						
٦.	75		No	33.000	53.648	₹ 1,770.38	
	1 23		NO	17.000	47.912	₹ 814.51	
	76	transparent or dyed to required colour or shade with nuts and screws etc. complete Single Rubber Stopper	No	3.000	34.809	₹ 104.43	
	77	mix 1: 3 mix (1 cement : 3fine Sand). Finishing with Epoxy paint (two or more coats) at all locations prepared and	Sqm	150.339	339.934	₹ 51,105.39	
	78	applied as per manufacturers specifications including appropriate priming coat preperation of surfaces, etc complete.	Sqm	1080.419	186.704	₹ 2,01,718.8	
	79	and grouted with fine sand including finishing the top smooth and curing complete	Sqm	24.750	491.137	₹ 12,155.65	
5.		Ms flat, square or round bars etc. including priming coat with approved steel primer. All complete.	Kg	300.000	118.668	₹ 35,600.40	
48	lr. 81	Providing and laying Ceramic glazed floor tiles 300x300 mm (thickness to be specified by the manufacturers) of 1st quality conforming to IS: 15622 of approved make, laid on 20 mm thick bed of cement mortar 1: 4 (1 cement: 4 coarse sand) including pointing the joints with white cement and matching pigment etc., complete. In all colours, shades, except White, lvory, Fume Red Brown	Sqm	23.479	1103.415	₹ 25,907.07	
8 : : : : : : : : : : : : : : : : : : :	82	type) along with "S" or "P" trap including dismantling of old WC seat and "S" or "P" trap at site complete with all operations including all necessary materials, labour and disposal of dismantled material i/c malba, all complete as per the direction of Engineer-in charge. Orissa pattern W.C Pan of size 580x440 mm	No	1.000	3649.288	₹ 3,649.29	
ne ne	. 83	wherever required:Kitchen sink with drain board 510 x1040mm Bowl depth 250mm	No	1.000	7179.167	₹ 7,179.17	
1	84	Providing & fixing PVC soil waste and vent pipe.		-			
S.	184:		Rm	30.000	247.225	₹ 7,416.75	
NJ	184.2	75mm	RM	20.000	197.780	₹ 3,955.60	

A

sying fitting of pipes, chowkidar quarter, balance work, chain link fencing, intake chamber and clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15

S.	Annexure "A" with Order No: 19 SE/HYD/JJM of	2023-	24 Dated :	- 10 - 06	-2023
No.	Item Description			Alloted Rate	
35	Providing and fixing PTMT towel rail complete with brackets fixed twooden cleats with CP brass screws with concealed fitting arrangement of approved quality and colour.450 mm long towel rail with total length of 49 mm, 78 mm wide and effective height of 88 mm, weighing not less than 17 mm.	of 5 No	1.000	793.790	₹ 793.79
86 .	Providing & fixing GI pipes complete with GI fittings and clamps including and making good the walls etc. (Internal works).	g			
86.1	15mm dia nominal bore (Light weight)				
5.2	zomm dia nominal bore (light weight)	Rm	20.000	275.804	₹ 5,516.0
	Providing & fixing GI pipes complete with GI fittings including trenching and refilling etc. (External works).15mm dia nominal bore. (light weight)	Rm	10.000 35.000	332.468 132.265	₹ 4,629.2
88	Providing & fixing on Terrace (at all floor levels) polyetheline water storage lank ISI 12701 marked indicating the BIS license no. with cover and suitable locking arrangement and making necessary holes for inlet, outled and over flow pipes but without fittings and the base support for tank syntex, Electroplast, Star, Lotus or equivalent having valid ISI license.	t Ltr	500.000	6.626	₹ 3,312.82
89	Providing & fixing CP brass Bib cock of approved qyality confirming to Is- 8931.15mm dia nominal bore.	140	6.000	315.311	₹ 1,891.86
90	Providing & fixing CP brass angle valve for basin mixer and gyser points of approved make confirming to Is-8931.15mm dia nominal bore.	140	4.000	530.149	₹ 2,120.60
91	Providing & fixing of 50 litre capacity gyser of approved quality (venus make or equivalent).	140	1.000	18789.100	₹ 18,789.10
9Z ~~	Providing & fixing Lighting points in 1.5 sqmm multistrand PVC wire to be laid in conduits including providing & fixing of 5-A switches complete.	140	20.000	1186.680	₹ 23,733.60
-93. ·	Pröviding & fixing heating points in 2.5 sqmm multistrand PVC copper wire to be laid in conduits including providing & fixing of 16-A switches complete.	140	3.000	1483.350	₹ 4,450.05
94	Froviding & fixing of 1200mm sweep ceiling fans complete with accessories including dimmer of ISI mark complete.		2.000	3461.150	₹ 6,922.30
95	Providing & fixing of Exaust fan in 1.5 sqmm stand wire to be laid in conduits complete.	No	2.000	2472.250	₹ 4,944.50
	Providing & fixing of 16-A MCB of Indocap complete.	No	5.000	593.340	
97	to way main double door system	No	1.000	5438.950	₹ 2,966.70 ₹ 5,438.95
98	Structural steel work in single sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. (Riveted and bolted)	kgs	13802.350	90.015	₹ 12,42,413.3
99	Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-incharge.	sqm	274.500	725.358	₹ 1,99,110.81
100 -	Applying priming coat with ready mixed red oxide of approved brand and manufacture on steel galvanized iron/steel works	sqm	274.500	52.164	₹ 14,319.15
101	Painting two or more coats of sythetic enamel paint of approved brand and manufacture.	sqm	274.500	79.211	₹ 21,743.39
102	complete job (Structural steel work in built up sections the itmes all work as	kgs	325.000	95.083	₹ 30,901.89
	Providing and fixing of MS lid of size1m x 1m of 50x50x6mm angle section with 3mm thick MS lid including all locking arrangements handles etc all work as complete job.	Job	2.000	7911.200	₹ 15,822.40
-6	Providing and fixing DI tail piece male /female to DI/CI pipes one side socketed and one side Flanged including all sorts of carriages upto site of work complete job.				Mary No.
	150mmØ DI 200mmØ DI	No	10.000	4450.050	3.44 ==
	100mmØ DI	No	14.000	5438.950	₹ 44,500.50 ₹ 76,145.30
· Argen	1 6	No	8.000	3955.600	₹ 31,644.80
05 k	Supplying and fixing rolling shutters of approved make, made of required size M.S laths interlocked together through their entire length and jointed together at the end by end locks mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete including the cost of providing and fixing necessary 27.50cm long wire springs manufacture from high tensile steel wire of adequate strength confirming to IS 4454 part 1 and M.S top cover of required thickness for rolling shutters. 80x1.25mm M.S laths with 1.25mm thick top cover	Sqm	6.020	3202.256	₹ 19,277.58
5.1 P	Providing and fixing ball bearing for rolling shutters	each	2,000	477 ==	
6 0	arraige of materials from source site upto dumping site of work by	Cacil	2.000	477.738	₹ 955.48
\rightarrow r	nechanical transport including loading unloading and stacking		The second		

ing fitting of pipes, chowkidar quarter, balance work, chain link fencing, intake chamber and clear water sump for WSS Regional Rohama under JJM Tender ID:- 2023_PHE_201756_15

1-	Annexure "A" with Order No: 19 SE/HYD/JJM of 2	023-24	Dated :-	10 - 06-	2023
S.	Item Description	Unit	Quantity	Alloted Rate	Amount
	200mm DI for an avg lead of 35kms	Mtr	722.000	32.287	₹ 23,310.92
	150mm DI for an avg lead of 35kms	Mtr	1022.000	19.823	₹ 20,258.60
106.3	100mm DI for an avg lead of 35kms	Mtr	1500.000	11.895	₹ 17,843.22
105.4	below 100mm dia Gi Pipe for an avg lead of 35kms	M.Ton	37.244	484.679	₹ 18,051.37
	Cement and Steel avg lead of 35kms	M.Ton	156.776	484.679	₹ 75,985.98
	Sand /aggregate avg lead 35kms	Cum	471.785	545,213	₹ 2,57,223.41
106.7	Bricks for an avg lead 85 kms	Nos	8039.000	2.764	₹ 22,219.60
107	Carraige of pipes from duming site upto actual site of work by manual labours for an avg lead 5000mtrs				
107.1		Mtr	22.000	134.467	₹ 2,958.27
107.2	150mm DI	Mtr	22.000	89.603	₹ 1,971.27
107.3	Cement	M.Ton	19.500	2353.735	₹ 45,897.84
		M.Ton	3.176	4009.549	₹ 12,734.33
107.5	Sand /aggregate	Cum	80.495	4681.769	₹ 3,76,859.00
13	Total				₹ 1,65,33,795

(Rupees One Crore Sixty Five Lac Thirty Three Thousand Seven Hundred and Ninty Five Only)

The state of the s

Technical Officer

Superintending Engineer Hydraulic Circle Baramulla/Bandipora

H. Q Sopore